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For what pain - ORRT W

Overview
The mwn stated that a 01X must also pay for the pain that he caused her. The X713
asks what ¥ (pain) is he paying for. N1901n attempts to clarify this question.

nvoIN asks:
- 199 NOYA NP INIT PNYS 199399 DY

The >''9 has a difficulty with this question, for what is the X713 asking ">RXn7 9vx' -
= A MITIN MIVP NN NHVYNI AN NADINAY DI YN YIY D/YN Y19 N *9)

For did not the X923 know that there is immense pain for a virgin by her first
7%°3, and many young girls become sick from it, so obviously there is 7wz —

maoIN anticipates a possible resolution to this question:
- 175¥3 NNN 793 IPVLENY NIV S9NY NVDT D7YNY N9 XVIWD PN IMNNDT NI 999

And if you will say that it was obvious to the 8923 that the 0i1x» is exempt from
paying for that 2yx of the 71WwX1 X", since eventually she will have to undergo
this pain with her husband (if he would not have been 0ix» her) —

mMooIN rejects this answer:
= 2R39%) WNAY yWN RYT (0w x,0 97 xnp 832) D3NN INID D199 NN N

But there are those 2°81n in 211277 779 who are not concerned for the weakening

of the vines -
— 315 MPNY INDY 137 Y19

The meaning of X191 wnd refers to something which will eventually happen —

NID0IN answers:
= 9 9NN NON YINYN NYWA NI 1PN YINYN MIND DIVN NDIPA 9P8T PNYY 13929 AN

! The 0axn is not causing her any extra pain; either she has this pain by her husband or by the 0ixn. See the very bottom
of this Tmy.
2 In a case where an animal ate someone else’s grapes which were not ripe yet (1012), the rule is that the owner of the
animal must pay the price of ripened grapes. Some opinions maintain that we deduct from the payment the amount
which the vine will decrease in its value had the grapes been left on the vine to mature. We assume that grapes growing
on a vine decrease the value of the vine by absorbing its nutrients. This is called X191 wn>. However other a°Rin
maintain that we do not deduct anything for X191 wn> and he must pay the full value of ripe grapes.
3 Our case of DX is similar to X191 w2, if we are concerned for X1913 wn> (and we deduct the amount which the vines
will deteriorate from the grapes), so here too we deduct the 7v¥ that she will have later, so it evens out and he owes
her nothing. However, according to those who to do not take X191 wn> into account, but rather assess the damage as it
is worth now, so here too he will have to pay her for her 7v¥, and we are not concerned what the future brings.
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And it appears to the "2 that the pain of intercourse? is not felt during wm»wn

because of the desire for ws»wn, rather the pain is felt later after v nwn -
= NYAN NYWA 1D NAN Y8 IMN 12991 29NNT NHANN Y8 U9

And his liability for causing the pain of the wound is only regarding the pain

that is inflicted at the time of the wound -
= SNMIT 9PN S¥a 70N NIN NPYYA SNNINT 90991 75 NN 1T XA NN HYaN

However any pain which is felt later (after the act of wounding [in this case after
the 77°va, which causes the wound]), one is exempt from paying for that v, for it
is considered merely as a %93, therefore the X773 asked for which 9YX is he liable —

mooin offers an alternate explanation:
= 919919 XY DDINA LY HP8T RVIVAT Y91 DNYAN 12 PWHY 1%

And the R'"'2w1 explains that it was obvious (to the one who asked *Xn7 7vX) that

we cannot say that it is 299103 @ Y3 (as noo1N asked) -
$9709 3NN91071 7NIDN WNID WM PRNINNT NN TN by4

For perforce you must say that the Xin of our 71w» is concerned for Ripx wn>,
since he maintains that a 7np» (a seducer) is exempt from paying “wx.

Summary
There 1s no 7w 2111 for afterwards, since it 1s considered X273, Or there 1s no 2117 for

7N WY since the 7Iwn is concerned for X190 whd.

Thinking it over
How can we say that the 7vX which she feels after wnwn is considered X»13; but he
inflicted the wound directly which is causing her now pain?’

4 This is the pain of the tearing of her 02102 (hymen).
5 ¥m13 means an indirect damage. the case here, where she is being damaged (feeling pain) by something which already
happened, is considered P12 R .See ‘Thinking it over’.
¢ During the X*2 when he makes the 7921 she does not experience pain because of w»wn mxn, and for the pain she
feels later, he is not liable because he is not inflicting that pain on her while she is experiencing it.
" Therefore since we are concerned for X191 Wi he is 109 (see footnote # 3), since 72¥2 NN WVXA? 7910
8 The proof that the Xin of our mwn is X191 wno? w»n is from the fact that 7no» is MWD from WI. Seemingly it is the
same 7YX for 01X or non, therefore we must say that by inon he does not pay since 77v2 nnn LA 71910 (and we are
X191 WY wm), the same should apply to 01xn, therefore the Xn3 asks what 7w is there by 0ix» which is not there by
anon.
? See 111177 n"R77 and 2 0 XD 93 KT nMw.
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